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1. Transforming the circuit into Laplace domain:

Z4(8)=8 +

Zy8)=8ls 1~

I(s)=6/s (MA) (D Za{s)=2s Vi(s)=7

ve(0)s=32/5 (mV) C_)

Li{0)=8 (mV} -

Laplace domain equivalent circuit

Zy(s)=8fs T~

6/s (MA) i) In(s)=8/(25+8) (MA} (J,) [:' Z12(s)=25+8 Vi(s)=7
32/s (mV) _)

Z12(S)=25+8

Z3(s)=8ls 1~

4(55+12)/s (mV) CD
T Vi(s)=?

32/s (mV) C)
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Using the voltage divider principle, one can write the output voltage ¥ (s) (in mV) as
follows:

8
70 - (4(55+12)_§%)+2: 16(5s+4)) 32 _16(2s” +135+12)
R T S ) MR ¥

P S
(s+2) (s+2)

| v | oo

The coefficienis A, B and C can be found as:

A = SVE (SX:.‘:O = 48 mV
d 2
B= E;(S + 2) V‘(SXP—?.

C=(s+2fW(s)  =48mv

s=-2

Therefore, the time-domain expression for the output voltage is

v, (1) = 48u(t)+ Be ™ ult)+ 48te™ u(t) (mV) valid for £ 2 0
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- A+R = 2

gA+C = Y
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